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Note : Answer Part-I and Part-1I in separate answer copies.
Answer the questions as per instructions in each part.
Draw labelled diagrams, wherever necessary.

Time : 2 hours Maximum Marks : 25

Note : Q. No. 1 is compulsory. Attempt any four questions
from Q.No. 2 to 7.

PART -1 PLANTS

1.  Fill in the blanks. Attempt any five. 5
(@) The enzyme which dissolves callose is called

(b) Perisperm in pepper represents the

() The cell in the pollen grain
divides to form the two sperms.
(d) is the differentiation of the

initials of various organs in the pro Embryo.

(e) Plants which are pollinated
show in breeding depression.
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(8)

(b)

and are the

products of double fertilization.

and represent the
integuments of the ovule in the seed.

Differentiate between any two of the
following :

(i)  Self pollination and cross pollination
(i) Heartwood and sapwood

(ii) Photo periodism and phototropism
(iv) Monosporic and bisporic embryo sac

Name the constituent cells of secondary
phloem.

3.  Draw clear and well labelled diagrams of any two
of the following :

(@)

(b)

LSE-06

(i) Mature monocot embryo

(i) Anatropous ovule

(iii) L.S. Lenticel

(iv) Endosperm with Chalazal haustorium
Name a plant which possesses :

(i) Cleistogamous flowers

(i) Caruncle



4.  Write short notes on any two : 5
(i) Somalic embryogenesis
(i) Types of endosperm
(iiy Dispersal of seeds
(iv) Apical dominance

5.  Define any five of the following : | 5
(i) Dormancy ‘
(ii) Mega sporogenesis
(i) Dichogamy
(iv) Annual rings
(v) Endothelium
(vi) Poly embryony
OR ,
Describe the structure and functions of : 5
(i) Tapetum
(i) Commercial Cork

~ 6. With the help of well labelled diagrams describe 5
secondary growth in a dicot stem.

7. (a) Describe the various signals responsible for 4
the transition from vegetative to
reproductive growth.

(b) Give the contribution of any one of the 1
following scientists.
(i) P.R. White
(i) F.W. Went
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PART - II (ANIMALS)

1. (a) Fillin the blanks : ¥%x4=2
() Theregular development of RBC is an
example of regeneration.

(i) The slow block to polyspermy is
achieved by reaction.

(iii) During development of pancreas in
mammals, endocrine functions begin
by day in the acinar cells
and islets cells of Langerhans

(iv) Juveline hormone is also known as
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(b) State whether the following statements are

True or False : Yhx4=2
(i) Mammalian eggs are characterized by
high Yolk content.
(True/False)

(i) In Xenopus, meiotic arrest occurs in
diplotene stage.

(True/False)
(i) Both in amphibian and chick/
embryos, the somatic mesoderms that

lie dorsal and ventral to endocardium
fuse to form myocardium.

(True/False)

(iv) Inhuman development eyebrows and
eyelids appear in foetal development
during eighth month of pregnancy.

(True/False)
() In human development following organs
are derived from which germ layer ? %x2=1
() Kidney

(i) Internal Ear

2. (a) What are the five basic purposes of 21
fertilization ?

(b) Briéﬂy describe the aerosomal reaction in 2%
mammals with the help of suitable
diagrams.
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(@) Describe neurulation in chick. 2

(b) Define Emboly and briefly describeany two 3
embolic morphogenetic movements.

4. (a) Describe the development of eye-field in 3
chick embryo. In what conditions a single
median eye is formed instead of two lateral
eyes ?

(b) Name the larval forms of : 2
(i) Sponges
(i) Molluscs
(i) Tunicates
(iv) Nemertines

5.  Describe the changes in the respiratory and 5
circulatory systems in humans after birth.

6. What is metastasis ? Briefly describe the three 5
stages in carcinogenesis with the help of a suitable
diagrams.
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